EAGRAROBREERT — 2 N— ABISH —F

2020&7R6H (B) 6EAFH1H

mﬂﬁ%— C2N\A B R
[A&4] 1 7% :1,000,000 @ .~ 2 7 :400,000 @ 33 :250,000 4 3#%:150,000 @ ~ 5 7% :100,000 M
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
= B 5 | AMEEK 1:14.4 3-3 38.3| — 4 458 | BEBUHEX (KH)
1 - FAREE e 54.0 ) (a) |fETE
L:hxEXY BOOFRITANL KIS
= s 7 | EEEEX 1:14.4 7-7 37.3| — 7 449 | EEEX (KH)
2 4| 71>7U= 54.0 (7E) ) W) Troz ke
RixXAyayR—F— BHATALH— ARET2-T7— L
. RER&E : — — SAREL (KH)
311 | P72 )7 o 54.0 1('31/%5 o %2 0 :?s) EEFT
R:v2RUIYRIZX B:TLA1474—/E— REE #uim
. 5 | EEXK 1:14. - . — JEF A (/)\HE)
4|56 | 7> MIbX i 54.0 (3/4)7 2 %0 ° (42;) B
L:N—KZIS> B:T54<%U—hF— #RASHE /- X
.= BEE : - — BREA (K
5055 TU—KeySAx—)L 4 6 A51_§§ 1(*7145§ 1-1 38.7 3 (4_518) gééﬁgﬁ( )
R:TLLFFE2Ts BE-FTU-X HET7— L
. . o4 | BEER 1:15.6 9-11 37.7| — 12 | s27 |fEAAKE— (KH)
61710/ %—7B—K 56.0 () (o) |HEES
R:T—UTr—R B:ITINTY HET7— L4
7 o o4 | BEARE 1:15.8 11-8 37.8 — 8 557 | LA2ER (K#)
ZH 8 JL—hr)—=7 56.0 (1 1/2) 3) WE%E
YRG5 B:IE—FIATLX YA 785
SV o4 | HilRTHEA 1:15.9 4-5 39.7| — 2 494 |BRE (K3H)
gl7lglEN/TEL— 56.0 (7€) (1) | R EN
R/ EL—I B:Fy NAT7T754T BH FC
— o JIIBIEAEB :16. — . — Wil (KH)
9 2 NIVFoL—~XN> "6 56.0 (11 136/42) 1212 87.9 9 ?8)5 ém;ﬂn:_
R T RT—IEY BiAFRTI— HET 7 — L
R N BT 16. - . — 1E2 KRB (KH)
10 3 HA29F%FyS~< 4 7 A 1(31/%3 10-8 38.4 1 (43;) R
R:GFRTLE— B:IUFNyE— TRALD4S
-3 46 | AMERR 1:17.0 8-10 39.5| — 10 | 463 |TRIE (KH)
18]12|=>/YEH 56.0 3 1/2) s |FEEE
L )=FHIZ9 B:7an EEicke]
NPT IEN R #1158 : — — BEEEE (KH)
12/ 8|11 Fr>EF>%H> "5 5o R S 1 fff) KEBELE ()
L:O—RKAFAO7 B:IF7TILY PR #
@ 1—F—@&BIEf
13—7—
23—7F—
30—7+— 5,6,7,9,1,11,4,12,10,3,8,2
43—F— 5,6,7,1,9,11,4,(3,8),12,10,2
[ RN
B OB 7 1,120 714K 4-7 2,030 e & 4-6 9,990M 3ER 1-4-7 29,830
% B 7 250 1-7 1,750/ | | # B 6-4 13,110 | | 3EE 7-4-1 209,910/
4 430/ 1-4 1,800M B E 4-7 10,510
1 340M B H 7-4 23,570

ARICOVWTRDTEEERROODE. TR LI,




